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LESSON PRACTICE

Fill in the blanks.

1. Write the slope-intercept formula for lines a, b, ¢, and d.

linea. m=
line bh. m=
linec. m=
lined. m=

Y =

Y/
Y= | b/ /c/d
- AN,
Y = v

2. Write the slope-intercept formula for lines w, x, y, and z.

linew. m=___
line x.

liney. m=
line z.
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m=___

m=___

, Y=
~_ Y
"7’7\,\; < | [ A
Y = X 1
~ YR

105



LESSON PRACTICE 9A

106

3. Which of the following lines are parallel to Y = -3X + 2?7

A. Y=1/3X-2

C.

AL Y=1/4X+5

B.

C. Y=4+4/8X

5. Which of the following lines are parallel to 2Y - 3X = 4?

A. Y=2/3X+4

B.

e
6. Which of the following lines are parallel to 3Y + 4X = -6?

A. Y=12/9X-1

B.

s

Be sure all the equations are in the slope—intercept form before comparing the slopes
may be more than one answer for some of these questions.

Y =4 -3X

4. Which of the following lines are parallel toY =1/2 X - 5?

Y=-1/2X+2

Y=6/4X

2Y =8 -3X

3Y =-4X + 0

-2Y=5X-8

. There
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LESSON PRACTICE 9A

7. Change =Y + 2X = 4 to the slope-intercept form of the equation of a line.

8. Change Y - 4X = 0 to the slope-intercept form of the equation of a line.

9. Change -2Y - X = -2 to the slope-intercept form of the equation of a line.

10. Change 3Y - 2X = -6 to the slope-intercept form of the equation of a line.

11. Change -4Y - 3X = -8 to the slope-intercept form of the equation of a line.
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LESSON PRACTICE 9A -

12. Change Y =-5/3 X - 2 to the standard form of the equation of a line.

13. Change Y = 4X - 3 to the standard form of the equation of a line.

14. Change Y = 1/4 X + 3 to the standard form of the equation of a line.

15. Change Y =-3/5 X - 1 to the standard form of the equation of a line.

16. Change Y = 3X to the standard form of the equation of a line.
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